00 II 00 (0 13 0 )

1 3 =2
01 A=(-3 13 -7 |000.0000,00000000.
-5 19 -10

(1) ADDDO00 pa(z) =det(zl —A) 0000,
(2) ADDDOOOO ¢a(x) 0000.00,00000000,00 AQO Jordan
0oo J,000000000.

OO0O0OOO,P'AP=J, 0000000 POODOOODOO.

02 Yalz)=(@-1)%z—-2)000000000,

_ tpa(z) oy
fl(x)_ (:L‘—l)Q 2
folw) = YA oy
goo.ooog,
fi@)gi(@) + fo(z)ga(z) = (x = 2)g1(2) + (x = 1)?g2(x) =1 -+ (V)

000000 ¢gi(z),¢(x) 0,000000000000.
(1) h(z) =5 0 2=1000000 Taylor0ODOODODO.
(2) g1(x) 0D z=1000000 TaylorOODO,

g1(@) = —1— (&= 1)+

000000000000 000000.
(3) k(z) l 0 2=2000000 TaylorO0OOODOO.

@2

(4) g2(x) O x=2000000 TaylorOOO,

000000000000000000.
(5) 000,000,

{gl(az):— —(z—-1)=—x
g2(x) =1
D000O0.0000, g1(x),¢.(x) 0 (V) 00000000000,

&O000000,(0)000000000 (¢1(x),g2(x)) 000000000
a000300000.
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2 00 n00 (0 130 )

1 3 =2
03 01000A=1(-3 13 -7 0,020000 (©)O0O00O0O0O0OO
-5 19 -10

fi(x), f2(2), g1 (2), 92(x) DO OO,

{ Py = f1(A)g1(A)
= fa(A)g2(A)

0D00000000.0000,00000000.
(1) 0000000 weC30DOO,

u; = P111
Uy = Pgu

u=u; +us

00000, ul,

gboobooogobood.

(2) uj,up € C3 O
{(A—I)2u1:O
(A—QI)UQZO
gogooooooboboooo.
3) p,RL,O0C0D0O0O00O0O, ImP,ImP, 0000000,

000000, ImP,ImP, 0000 P'AP=J,0000000 POODO
ooobood.



